Name:  __________________________
Class: ______
   (E)
The Booster’s Club is going to sell bouquets of flower during the homecoming game.  They represent their sales as “I” for Income and “C” for costs, with the following equations.


I = 5.75x
C = 225 + 1.25x


x = # of bouquets

a)  What is the y-intercept for the line of each equation?  What does it mean in relation to this problem? 


Income:  Y-Intercept:  ________    

Costs:  Y-Intercept:  ________    


Meaning: _____________________________________________________
b) What is the coefficient for each relationship?  What does it mean in relation to this problem?


Income:  Coefficient -  ________    

Costs:  Coefficient -  ________    


Meaning: _____________________________________________________
c)  When is the Booster Club’s Income going to be equal to their Costs?  (What tis the break-even point?) Explain/Show your work.

